03094 BEREITARK

7= miiEA

R MK
mME , REFLLE,

BR:
AT H NENHERET ANSRIRRB S, HTHANGIWES
BFOTHE , FEHEAGES,

TS EELOENBREE
03094-99 D1 = M6x0,75
03094-90 D1 = M8x1
03094-91 D1=M10x1
03094-92 D1 =M12x1,5
03094-93 D1=M16x1,5
03094-94 D1 = M20x1,5
03094-95 D1 = M24x2

© norelem www.norelem.com




